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7 Which numbers is it impossible for cach of the following functions to outpu
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FFor questions 8 to 22 state the range of cach function for the given domain.

. 8 Function: f(x)=x+3, Domain: {re R:0<x<3)
9 Function: f(x)=x-: Domain: {re R:0<x <3}
10 Function:  f(x)=3x, Domain: {re R:-2<x<5)
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14 Function;  f(x) =27, Domain:
Qange: JYER, 0SYL AR |0t gng .
15 Function:  f(x) = (v + I}, Wit Domain:

Fowge:3yeR 0y <L}

16 Function:  f(x) =2+ 1 Domain:
: \_ wp e Wi

17 Function:  f(x)=—,
x

Domain:

freR:15x<4)

For questions 23 to 28 state whether the function is one-to-one or many-to-one for the stated domain.

23 f(x)=x, domain: R

25 flv)= +%, domain: [re Ri-3<x<3)

24 f(x)= 2%, domain: fxre R: 0 <x <3}
26 f@¥)= 1%, domain: R

B




